Errata for the Third Printing of Science in the Atomic Age
Student Text

. 242 “illustrated on the drawing on page 241" should be 239

. 308 “That’s what the second part of the experim3ent” should be experiment

. 348 “Too keep the water from” should be To

.363 “of the spice cord” should be spinal.

. 435 “However, too much of a good think* should be thing

Answer Key & Tests
.18  #5: “It’s in column 1A, so it has on dot” should be one

.20 #7c: “We have one H and one I, so:” should be one C and four CI’s

.66  “7. (1 pt) The aren’t making melanin” should be They
.69  #19: “atrium them ventricle.” should be then

.99  “2. People are classified in in domain Eukarya” should be the



